
 

                               

                 Hog Slat Inc. Newton Grove, NC USA   February 2014                                                      1 

HS597 HOPPER LEVEL CONTROL 

HS597   HOPPER LEVEL CONTROL 
 

 

General Installation Notes: 
 

Make sure that power is disconnected from system prior to servicing. 
 

Installation of this equipment and related OEM equipment should be in accordance with these instructions, OEM’s 
installation instructions and local codes (if applicable).  Failure to follow specified instructions may cause damage 
to equipment and/or personal injury or death. 
 

Take special note of any Warnings or Safety Decals on the equipment and in manuals. 
 

Always wear protective clothing and any applicable Personal Protective Equipment (Safety Glasses and/or Ear 
Plugs) when working with the equipment. 
 

Discarded materials, equipment and boxes should be recycled in accordance with local and national codes. 
 

Unless otherwise specified, all Feed Delivery Systems (Diameters) are installed similarly. 
 

Note: Switch Assembly is to be wired in accordance with all applicable local and national electrical wiring codes.  All wiring sizes 
and fuse capacities are to be sized according to applicable electrical code specifications or other regulations. 
 
 

Safety Instructions: 
Read all safety messages in this manual and on equipment safety decals. Follow recommended precautions and 
safe operating practices. 
 
Ground all electrical equipment for safety. 
Ground all non-current carrying metal parts to guard against electrical shock. 
 
Always keep safety decals in good condition and replace missing or damaged decals. 
          
Overview: 
The HS597 Hopper Level Control is a universal control intended to be used with any conveying system that 
carries free-flowing feed.  The control will automatically start or stop the fill system as the feed level pressure 
against the paddle assembly changes.   
 
Controls may be used in more than one hopper to ensure that no hopper runs out of feed before the control unit 
hopper requires feed.  In applications where more than one Hopper Level Control are used, the Hopper Level 
Controls  must be wired in Parallel so that any unit can start the system. 
 
The HS597 is designed for use in Poultry Feed Hopper applications. The HS597 installation requires no tools and 
height is adjustable. 
 
Do not connect rigid conduit to the enclosure. 
 
 
 
 
 



 

                               

                 Hog Slat Inc. Newton Grove, NC USA   February 2014                                                      2 

HS597 HOPPER LEVEL CONTROL 

HS597 HOPPER LEVEL CONTROL SWITCH ASSEMBLY 

                
 

REF # PART # DESCRIPTION REF # PART # DESCRIPTION 

1   ADJUSTMENT BRACKET STANDOFF 17   BOX ENCLOSURE 

2    WING NUT 1/4'' 18 61646 LIQUID TIGHT CONNECTOR 1/2" 

3   FLAT WASHER 5/16"  19   COTTER PIN 1/8" X 1 1/2"  

4    ADJUSTMENT BRACKET SLIDE 20   COVER, SWITCH HOUSING 

5    TOP MOUNTING BRACKET 21   10-32 HEX NUT 

6   SHOULDER SCREW, 10-16 X 1.375", SS - Type B  22   SWITCH COVER PLATE 

7   CONTROL BOX COVER 23   SWITCH PADDLE 

8 EL1052M SWITCH - MICRO SNAP ACTION , 20 AMP 24   10-16 X 1/4  SCREW -TYPE AB 

9   6 - 32 X 1", MACHINE SCREW 25   CLOTH PROTECTOR HOLD DOWN BRACKET 

10 HSLABEL-008 LABEL,WARNING-SHOCK HAZARD (ENGLISH) 26   MOUNT RAIL,, CLOTH PROTECTOR 

11   6 - 32, HEX MACHINE NUT 27 HS597-4 CLOTH, SWITCH PADDLE PROTECTOR 

12   6-20 X 3/8"  TAPPING SCREW Type BT 28   PIGTAIL-  SJ 14/2 X 36" 

13   SWITCH BRACKET 29   LABEL, HOPPER LEVEL CONTROL, HS597 

14   SWITCH PIN 30   FEED SHIELD 

15   6-20 X 3/8"  TAPPING SCREW Type BF        

16 HSDTC01-10 GASKET       

 

Safety Decal HSLABEL-008 
“Warning Shock Hazard” 



 

                               

                 Hog Slat Inc. Newton Grove, NC USA   February 2014                                                      3 

HS597 HOPPER LEVEL CONTROL 

Installation: 
 
The HS597 Hopper Level Control should be installed in the last hopper or feeder which is located at the end of 
the delivery or fill system.  The unit should be mounted low in the hopper or feeder so the fill level in the control 
hopper will be lower than the others.  This will cause the fill system to cycle more frequently insuring a proper feed 
level in every hopper or feeder.  It will also provide a reservoir of feed in the system if another control hopper calls 
for feed.  The feed drop tube should be positioned so that feed is delivered to the center and near the top of the 
control in front of paddle.  Drop tubes and other control units should be positioned high in other hoppers or 
feeders so that they will fill but not overflow. 
 
1. (Figure 1) Illustrates a typical installation example of the HS597 into a feed hopper. 
2. Hopper Level Control is held in place by clamping assembly to top lip of feed hopper. 
3. Remove the two wing nuts, washers and TOP MOUNTNG BRACKET (Item #5) from top of assembly. 
4. Slide switch assembly underneath top lip of feed hopper as shown below (figure 1). 
5. Replace TOP MOUNTING BRACKET (item #5), washers, wing nuts and tighten in place. 
6. The HS597 must be mounted vertically to ensure the proper movement of the switch and paddle.                                                                                     

 
 
 

                                   
                                                                       FIGURE 1 

 
 
 
 
 
 
 
 
 
 
 

    
Wing Nuts 



 

                               

                 Hog Slat Inc. Newton Grove, NC USA   February 2014                                                      4 

HS597 HOPPER LEVEL CONTROL 

7. Feed height can be adjusted by loosening two wings nuts and sliding switch assembly up or down the 
adjustment bracket for desired feed level.  Refer to Figure 2. 

 

                       Figure 2                         
                     Lowest Setting                                                                Highest Setting 
 
 
8. The front feed shield cover can be removed depending upon application requirements.  Simply loosen the 

four screws approximately 2 turns and slide feed shield up so that screw heads align with large opening in key 
slots. Pull field shield over screw heads and remove.  Replacement of feed shield is performed in reverse 
order. 

 

                                                
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Wing Nuts 

Loosen 
screws on 
both sides 
approx. 2 
turns 

Slide feed 
shield 
upward 



 

                               

                 Hog Slat Inc. Newton Grove, NC USA   February 2014                                                      5 

HS597 HOPPER LEVEL CONTROL 

 
 
 
 
 
 
 
 
 
 
IMPORTANT Disconnect all electrical power before attempting installation of this (or 

any equipment), inspecting or servicing. 
  
 Ground all electrical equipment in accordance with applicable codes.  Do not 

assume equipment will automatically be grounded due to incidental metal-to-
metal contact. 

 
 ALL electrical wiring must be done by a qualified electrician in accordance 

with local and national electric codes. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

DANGER: Electrical Hazard 



 

                               

                 Hog Slat Inc. Newton Grove, NC USA   February 2014                                                      6 

HS597 HOPPER LEVEL CONTROL 

Wiring: 
 
The HS597 Hopper Level Control is a single pole, double throw switch connected so that the circuit is normally 
closed (Motor Runs) when there is no feed present against the paddle.  The circuit is open (Motor Stops) when 
there is feed against the paddle. 
 
The HS597 internal switch is rated for 20 amps @ 125V/250VAC.  It can be directly connected in series to control 
a motor up to the following ratings.  
Maximum Ratings: 
1 ½ HP @230VAC  
 ¾ HP @ 115VAC 
Resistive load = 20 amps.  
 If larger motor size is used or resistive load greater than 20 amps, the Hopper Level Control must be connected 
to a relay/contactor. 

 
 
 

Wiring for use with GrowerSELECT HS593 Control unit or CTB 6500 Control Unit 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

                               

                 Hog Slat Inc. Newton Grove, NC USA   February 2014                                                      7 

HS597 HOPPER LEVEL CONTROL 

 
Hog Slat Limited Warranty 

Hog Slat warrants products to be free from defects in material or workmanship for a period of twenty-four (24) 
months from the date of original purchase. Hog Slat will credit, repair, or replace, at its option any product 
deemed defective within this time period. Labor costs associated with the replacement or repair of the product are 
not covered by the Seller/Manufacturer. 
 

Conditions and Limitations 
1. The product must be installed by and operated in accordance with the instructions published by the 

Seller/Manufacturer or Warranty will be void.  
 

2. Warranty is void if all components are not original equipment supplied by the Seller/Manufacturer.  
 

3. This product must be purchased from and installed by an authorized retailer/distributor or certified 
representative thereof or the Warranty will be void.  
 

4. Malfunctions or failure resulting from misuse, abuse, negligence, alteration, accident, or lack of proper 
maintenance shall not be considered defects under the Warranty.  
  

5. This Warranty applies only to components/systems for the care of poultry and livestock. Other applications 
in industry or commerce are not covered by this Warranty. 
 

6. This Warranty applies only to the Original Purchaser of the product. 
 

The Seller/Manufacturer shall not be liable for any Consequential or Special Damage which any purchaser 
may suffer or claim to suffer as a result of any defect in the product. “Consequential” or “Special Damages” as 
used herein include, but are not limited to, lost or damaged products or goods, costs of transportation, lost sales, 
lost orders, lost income, increased overhead, labor and incidental costs and operational inefficiencies. 
THIS WARRANTY CONSTITUTES THE SELLER/MANUFACTURER’S ENTIRE AND SOLE WARRANTY AND 
THIS MANUFACTURER EXPRESSLY DISCLAIMS ANY AND ALL OTHER WARRANTIES, INCLUDING, BUT 
NOT LIMITED TO, EXPRESS AND IMPLIED WARRANTIES AS TO MERCHANTABILITY, FITNESS FOR 
PARTICULAR PURPOSES SOLD AND DESCRIPTION OR QUALITY OF THE PRODUCT FURNISHED 
HEREUNDER. 
Hog Slat Retailers/Distributors are not authorized to modify or extend the terms and conditions of this Warranty 
in any manner or to offer or grant any other warranties for GrowerSelect products in addition to those terms 
expressly stated above. An officer of Hog Slat must authorize any exceptions to this Warranty in writing. The 
Seller/Manufacturer reserves the right to change models and specifications at any time without notice or 
obligation to improve previous models. 

 
 
 
 
 
 
 
 
 

                   
 
 



 

                               

                 Hog Slat Inc. Newton Grove, NC USA   February 2014                                                      8 

HS597 HOPPER LEVEL CONTROL 

This equipment must be installed in accordance with all State 
and Local Codes and applicable Regulations which should 

be followed in all cases.  Authorities having jurisdiction 
should be consulted before installations are made. 

 

 
 
 

            
 

 
 

Hog Slat, Inc. 
PO Box 300 

Newton Grove, NC  28366 
 

Phone: (910) 594-0219 
Fax: (910) 594-1392 

 
www.hogslat.com 

 
Copyright © 2013 by Hog Slat, Inc. 

Part Number: HSMANUAL-011 Rev A5 
HSART-155  
Market: Poultry 

http://www.hogslat.com/

